EXAM 2

   PROFESSOR LEFFLER


ECONOMICS 200A
                                                          SPRING 2005

TA grading guide.  Strive for an average of 17-18 on each question.  Read at least ten answers before settling on your scoring system.  For each question you grade, prepare a summary of how you graded, examples of good approaches and errors students made.  This must be given to me (in electronic format) by Wednesday evening.  I will then post it on the website for the students to read.  Below I provide some comments to guide your grading.

1. Consider the market for wheat.  For each of the following cases give an example of some real world event that could lead to the outcome.  Where indicated make the asked for prediction.  Explain your reasoning:

A.  The quantity demanded of wheat increases.   The price will? 
Any example that increases the supply of wheat while not shifting the demand curve.  Examples, exports of wheat are prohibited, the cost of wheat seed or fertilizer falls.  The price has fallen.

B.  The demand for wheat increases.   The price will ?
Any appropriate change in a parameter of the demand for wheat.  Examples, corn is taxed, peanut butter prices fall.  The price will rise.

C.  The demand for wheat increases and the price decreases.  The quantity consumed will?
We need an event that will increase both the demand for wheat and the supply of wheat (where the increase in supply exceeds that of demand.)  An example could be - farmers are given subsidies to grow wheat (increasing their income and their demand.)  The quantity consumed will rise.

D.  The price of wheat decreases and there is no change in the quantity sold. 
Demand must have decreased and supply increased.  Lowering the price of something that is a substitute on the demand side while an opportunity costs on the supply would do this.  An example, the price of corn rises.  
E.  The quantity of wheat supplied increases. The price will?
The price an input decreasing or any factor that makes the marginal cost fall.  Price is of course expected to fall as the supply increases.

F.  The price of wheat decreased and the Smith family bought less wheat.
Something happened that both lowered their demand and the price.  Consider the demand for wheat falling because wheat is found to cause cancer.  Or what if Smith’s are wheat farmers in Washington and the wheat crop in the Great Plains was bountiful? 

2.  Explain each of these statements and why you agree or disagree.
A.  The elasticity of supply is greater in the long run;  
Agree.  The elasticity of supply is the percentage change in the quantity supplied in response to a given percentage change in price.  As producers have longer to respond to a change in price, they can adjust their roundabout capital.  If, for example, the price increases, the producers will desire to increase output and greater roundabout production will be efficient.  With time to switch to greater roundabout production, the marginal cost falls, increasing the supply response.  In addition, with more time, producers not currently in the industry will be able to enter with their desired production technology.  
B.  Everyone will have a comparative advantage in some production activity; 
Agree.  Comparative advantage refers to an individual having lower cost of an individual engaging in a particular production activity compared to someone else.  The relevant cost is the opportunity cost in terms of the forgone production of some other good.  Therefore, if one individual has a comparative advantage in producing good 1 in terms of the foregone production of good 2, the other individual must have a comparative advantage in producing good 2.  An example clarifies.  John can produce a shed by giving up 8 hours.  He could have used those 8 hours alternatively to grow 50 pounds of corn.  Sam takes 12 hours to produce the shed and he could produce 40 pounds of corn in those 12 hours.  Sam has a comparative advantage in shed production (cost 40 pounds of corn); John in corn production (40 pounds costs only 4/5 a shed.)    
C.  Roundabout production leads to marginal cost declining with output; 
Agree.  Roundabout production is using resources to produce an intermediate good that lowers the cost of additional (or marginal) output.  The efficient production technique is that technique that results in the lowest average cost for a given level of output.  At higher output levels, the upfront costs of greater roundabout production can be “spread’ (averaged).  Hence, for greater levels of output, greater roundabout production will be efficient and greater roundabout production lowers marginal cost. 
D. Hedging is a way to “sell” risk. 
Agree.  Hedging refers to buying or selling “future events” at current prices where winning or losing on the hedging activity is negatively correlated with winning or losing or some other activity already owned.  For example, in 2004 Southwest Airlines bought substantial amounts of 2005 future jet fuel contracts.  The prices of those contracts were based on expectations in 2004.  If jet fuel prices had fallen below expectations, Southwest would have had low actual fuel costs (increasing its profits) however it would have lost on the futures contracts since it would have promised a high price for what turned out to have a low cost.   In fact, jet fuel prices increased much more rapidly than expected.  Southwest had in effect “locked-in” the 2004 expected price for 2005.  By engaging in the hedging contracts, Southwest paid a trading specialist to bear the risk of jet fuel price changes.  (And those trading specialist lost large sums.)   
3.  By working 8 hours Kerry can produce 8 units of food or 4 units of clothing. He chooses 4 F, 2 C.  Mary can produce 15 units of food or 5 units of clothing in 8 hours. She chooses 9F, 2C.

A.  Who has an absolute advantage in food production?
Mary gives up less of her time to produce a unit of clothing.  She is “better at it” than Kerry.  She has the absolute advantage.

B.  If Kerry and Mary meet up, explain how they can both be better off by exploiting the Law of Comparative Advantage.
Kerry gives up only 2 units of food to produce a unit of clothing.  Mary gives up 3.  These will be their marginal values prior to meeting.  Trading at a rate of exchange between these marginal values, for example 2 ½  foods per clothing, will motivate Kerry to specialize in clothing and then trade for food; Mary to specialize in food.  They now produce 15F, 4C.  Kerry trades 2C for 5F.  He ends up with 5F, 2C; Mary with 10F, 2C.  Both are better off.

C.  As a result of specialization, do you expect Mary’s marginal value of food to change?  Do you expect her work hours to change?
She has increased her amount of food with the same amount of clothing.  Her value of an additional unit of food has therefore fallen.  Working is more valuable than it was before since she can get 2/5 a unit of clothing for an extra food rather than 1/3.  Hence she is likely to work more.

D.  If George shows up on the island with production possibilities of 15 units of food or 2 units of clothing per day, does Mary benefit?

At a trading price of 2 ½ food per clothing, George will specialize in the production of food, trading for clothing.  He is the low cost producer of food.  The price of food will fall as he increases the supply and Mary will be worse off.

4.  True, false, uncertain, explain.

A.  Middlemen do not produce any goods.  They therefore are not productive members of society.
False.  Middlemen allow producers to exploit complex production by linking the consumers preferences to the producers’ decisions.  The resulting use of complex production substantially increases the amount of goods available from a given set of resources.  The existence of effective middlemen is “responsible” for the increased output just as much as are the production workers since absent either the increased output will not be forthcoming.  

B.  Specialization without trade would not be efficient.
True.  Specialization implies that a different set of goods is produced than the individual prefers to consume.  Hence absent trade an individual will be producing and consuming a set of goods that are less preferred than those available pre-specialization. 

C.  Regardless of their relative production efficiencies, all sellers in a competitive (price taking) industry are expected to have the same marginal cost.
True.  They will each continue to expand sales until the marginal cost equals the price.  Since they all face the same price, they will end up with the same marginal cost.

D.  "Everything has a price and money is no exception. Its price - the interest rate - is determined in the marketplace where money is borrowed and lent."
5.  A.  The Legislature has decided to raise the state sales tax imposed on the sellers of gasoline from 15 cents per gallon to 25 cents per gallon effective tomorrow.  Assume gasoline currently sells for $2.00 including the tax.  

i. How would this impact the price of gasoline in Seattle tomorrow?; 
The tax will shift up the supply curve of gasoline by 10 cents since an additional 10 cents is taken by the government (what ever quantity producers supplied at $2 cents will now be supplied only if the price is $2.10).  The new equilibrium price will therefore rise but by less than 10 cents since the reduction in the quantity demanded as the price increases will reduce the amount of gasoline supplied in equilibrium. 

ii. What difference would you expect in the change in the state’s tax revenue on a per driver basis if the question concerned gasoline sold in Vancouver, Washington, which is just north of the Oregon border, rather than Seattle? 
In the context of this tax change, the demand for gasoline in Vancouver is expected to be much more elastic than in Seattle since those buying gasoline in Vancouver can drive over the border to purchase their gas.  Hence there should less additional revenue (or a greater proportional decrease) per driver in Vancouver than in Seattle.

iii.  How would the price of gasoline change tomorrow versus next month?
Uncertain.  A graph certainly aids in analyzing this.  The second law of demand implies that the demand elasticity increases with time to adjust.  The increased elasticity of demand considered alone causes price to rise than otherwise.  However, the supply elasticity also increases with time to adjust (see 2.A. above).  The increased elasticity of supply considered alone causes the price to rise by more than otherwise.  

B. I own stock in two companies, Eko Energy Systems and Restaurants International.  Eko makes special low energy use heaters.  Restaurants International owns and operates family restaurants.  Assume the interest rate unexpectedly falls. 

i. .  How would you expect the change in the interest rate to impact the value of these stocks?
Both stocks would be expected to lose value since a stock is a right to future profits and the present value of future profits has fallen with the increase in the interest rate.  

ii.  Which stock would you expect to have a greater percentage change in value?
Eko stock value is expected to be impacted by more than RI.  The demand for the Eko product will be more  sensitive to the interest rate since the product returns future lower energy cost for an upfront expediture now.  An increase in the interest rate will lower the current value of these future savings thereby lowering the demand for Eko’s heaters.  This will adversely affect the future expected future profits of Eko which will be a factor additional to the direct effect of the higher interest rate lowering the present value of future profits.
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